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QUESTION 1

All RDS for MySQL backups are full backups.
A. True

B. False

Correct Answer: A

QUESTION 2
Different Alibaba Cloud VPCs are completely isolated from each other.

By default, the VPCs cannot communicate with each other over Intranet, but you can establish VPN connections via the
Internet to achieve interconnection between VPCs.

A. True
B. False

Correct Answer: A

QUESTION 3

As a concept stem from cloud computing, cloud storage service provides on-demand storage and data services to users
through a unified interface.

Which of the following characteristics about cloud storage are correct? (Number of correct answers: 4)

A. Management and maintenance: To prevent emergent service termination, users need to know the underlying detalil
like how the data is archived in the resource pool.

B. Service on demand Cloud storage has a huge resources pool, users can apply for and use the resources on
demand.

C. High reliability and availability: Provides very high reliability and availability through technologies like 3 redundant
copies, automatic failure recovery, etc.

D. Ultra-large scale: Data storage can reach TB or even PB level
E. Transparent service: Provides the service through a single SDK
F. High scalability Storage capacity can be dynamically scaled to meet the needs.

Correct Answer: BCEF
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QUESTION 4

To meet business requirements, a user requires that the backend server of an SLB instance include a primary ECS
instance and a secondary ECS instance. When the primary instance is working properly, the traffic is only forwarded to
the primary ECS, when the primary instance is down, traffic is switched to the standby instance. In this case, you can
create an active/standby server group on the backend of the SLB instance.

Which kind of listener supports this feature? (Number of correct answers: 2)

A.HTTPS

B. HTTP

C. UDP

D.TCP

Correct Answer: AC

QUESTION 5

Object Storage Service (OSS) supports access logging. A bucket owner can activate access logging for their buckets in
the OSS management console. When access logging is activated for bucket A, OSS automatically accesses the request
logs for this bucket (in hours) and generates and writes an object to the user-specified bucket B according to certain
naming rules. Which of the following statements is true for OSS logging?

A. Buckets A and B can be separate buckets (or a single bucket) but they must belong to the same user

B. Buckets A and B must be the same bucket.

C. Buckets A and B can belong to different users.

D. Buckets A and B must be different buckets.

Correct Answer: A

QUESTION 6

Alibaba Cloud Elastic Compute Service (ECS) instances in different Security Groups will definitely have no way to
communicate with each other.

A. True
B. False

Correct Answer: A
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QUESTION 7

After stopping an Alibaba Cloud Elastic Compute Service (ECS) instance, since the ECS instance is stopped, you will
not be charged for anything related to that ECS instance until you start the instance again regardless of which region the
instance is located in.

A. True

B. False

Correct Answer: A

QUESTION 8

Alibaba Cloud ECS provides multiple instance types to meet the needs of different business scenarios. A medium-sized
enterprise user wants to use two ECS instances, one to deploy a single Tomcat service and the other one to deploy
Memcache. Which of the following configurations is most recommended?

A. Tomcat: 4 cores. 8G, Memcache: 2 cores: 16G

B. Tomcat: 4 cores 8G. Memcache: 2 cores 8G

C. Tomcat: 4 cores, 4G, Memcache: 2 cores, 8G

D. Tomcat: 4 cores: 4G, Memcache: 2 cores: 16G

Correct Answer: C

QUESTION 9

Alibaba Cloud Object Storage Service (OSS) provides multiple file uploading modes for different scenarios, which
are . (Number of correct answers: 2)

A. Direct upload from the OSS management console no matter how large the file is
B. Uploading using the API

C. Directly copying to/from OSS using portable disks

D. Upload using the SDK

Correct Answer: AC

QUESTION 10
Recently, response speed of a certain Alibaba Cloud Elastic Compute Service (ECS) instance is unacceptably slow. By

using CloudMonitor we discovered that the ECS instance utilizes more than 80% of the assigned bandwidth. Which of
the following approach can address this issue and without the need to reboot the ECS instance?
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A. Upgrade the bandwidth of the ECS instance
B. None of the above

C. Upgrade the CPU and memory of the ECS ins
D. Add a disk to the ECS instance

Correct Answer: A

QUESTION 11

You would like to deploy your applications on Alibaba Cloud to meet requirements including cost reduction, improving
service availability, fast deployment- and redundant backup Alibaba Cloud products can help meet these
requirements (Number of correct answers 3)

A. Elastic Compute Service (ECS) image achieve efficient and convenient deployment.

B. Utilizing Content Delivery Network (CDN) can meet the demands for redundant backup.

C. Utilizing Server Load Balancer (SLB) and ECS instances can improve data reliability.

D. Elastic Compute Service (ECS) snapshot satisfies the needs of rapid recovery of applications and data.

E. Reasonable selection of Regions/Zones meets the location needs of application deployment as well as the demands
for redundantly backup critical business applications and data.

Correct Answer: ACE

QUESTION 12

If you need to accelerate a certain domain name (such as abc.com) via Alibaba Cloud Content Delivery Network (CDN),
you must add it to "CDN Domain Name List" in the CDN service. After added successfully, you will get a CNAME
address A Next, you need to modify domain name resolution and direct the domain name (such as abc.com) to CNAME
address A. Which of the following is a NOT correct description of modifying domain name resolution?

A. If your domain name (such as abc.com) is transferred to Alibaba Cloud in advance, and managed by the same
Alibaba Cloud account, you can perform one-step resolution modification.

B. The CNAME address allocated to the domain name (such as abc.com) will point to an IP address. This IP address
resolving mechanism is intelligently managed by Alibaba Cloud CDN system.

C. The DNS service provider used by the domain name (such as abc.com) must support intelligent resolution.

D. The DNS service provider used by the domain name (such as abc.com) can be companies other than Alibaba
Cloud.

Correct Answer: A
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QUESTION 13

Company A constructed a sales management platform using three Elastic Compute Service (ECS) instances. One of
the instances runs MySQL, and is used as the database server. The other two instances are used as Web servers After
some time, the number of employees in Company A dramatically increases, leading to higher sales volumes At the
same time, the platform response speed is gradually decreasing too.

According to the report from CloudMonitor, the average CPU utilization rate of the two Web servers exceeds 70%, and
database load reaches 75% Company A can select Alibaba Cloud services.to cope with the issue and
optimize the performance. (Number of correct answers: 2)

A. Import database data into Object Storage Service (OSS) to share the storage pressure on the platform

B. Incorporate Server Load Balancer (SLB) and add additional ECS instances to relieve the load on existing ECS
instances

C. Use Content Delivery Network (CDN) to enhance content loading speed

D. Replace the self-built MySQL database with ApsaraDB for RDS to obtain better database performance, and utilize
RDS read-only instances to handle read-only requests

Correct Answer: BD

QUESTION 14

Names of the files in each OSS bucket must be unique Also, they can be renamed.
A. True

B. False

Correct Answer: B

QUESTION 15

If an administrator often needs to manage multiple ECS instances in an Alibaba Cloud VPC through the Internet. Which
of the following solutions can meet this need at low costs and without affecting system security.

A. None of these answers are correct.

B. Choose an ECS instance from VPC and make it as the bastion host And then, apply an EIP and bind it to this ECS
instance. After that the administrator can manage other ECS instances through this bastion host.

C. Modify the VPC Security Group policy, to allow access from the Internet.
D. Bind an EIP to each of the ECS instances, and Jog on to each of these ECS instances to manage them.

Correct Answer: A
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